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1 Find the (1) sample mean (2) sample median (3) sample mode (4) sample variance
of a random sample of 13 weights of product A
18, 21, 52, 48, 36, 57, 30, 23, 36, 50, 34, 25, 48.
2 Let X and Y have the following joint probability density function
f(x,y)=x+y » 0<x<1l->0<y<l

Find(1) oy , (QEXIY).

3 The number of hits on a website follows a Poisson distribution, with a mean of 27
hits per hour.
(1)Use Normal distribution to find the probability that there will be 90 or more hits
in three hours.
(2) Use Normal distribution with correction to find the probability that there will be
90 or more hits in three hours.
4 Let X, X;,,X3~B(1,P) where p is unknown.
(1)Find the MSE of 8, = 2X.
(2)Find the MSE of 8, = X; + X, + X;.
5 Asample of 100 boys aged 6-11 was weighed, and 35 of them were overweight. A
sample of 100 girls aged 6-11 was also weighed, and 20 of them were overweight.
(1) Find a 95% confidence interval for the difference in overweight proportions
between the boys and girls.
(2) Test the hypothesis that the overweight proportions of boys and girls are all
equal, atthe « =0.05 significance level.



Faooars = 41020 ~ Fygoas = 43572 ~ Fygqa0 = 14.9394 ~ Fyo oo = 66810
Fogoors = 44844 ~ Fo o =50503 ~ Fiy,; 0005 = 33917 ~ Fpjpp0475 = 31975 »
Fio100rs = 31515 ~ Fpp 16007 = 28891 ~ F 1os =38415 ~ F, o = 17522 -
Frooos =156~ F, oo =1~ F, 1005 = 25432~ F, 1, 00 = 22962 ~ F, 5,065 = 17831
Frocoos = 42597 ~ Fppgo0s = 42252 ~ Fpyy 005 = 249.05 + Fpq 05 = 2495 »

Fiois00s = 24753 ~ Fis1p 005 = 26169 ~ Figpigos =3.3299 ~ Fp 450475 = 3.0078 »
Fiot00075 = 3.6210 ~ Fyg 10976 =3.3735 ~ F,c o675 =4.7650 ~ F, ¢ o4 =3.6823

tir o5 = 21098~ by g a0s = 31693~ ty, go7s = 21448 ~ tyg o0 = 18125 + t,, oo = 2.0639
thg0ars = 20484 ~ ty, oo = 2.0739 ~ tyg o grs = 2.0555 ~ g go5 = 1.684 ~ tgq o5 =1.6759
tys 075 = 2.069

200 =16.92 ~ 42 00 =19.02

Ziogrzs =089~ 2740, =094~7 , =12816~ 27, =14395~ 72,4 =1.645~ 74, =1.96



